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2 If 45 -[28 -{37 (15»@)}]= 58, then * is equal to :
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marks in the following equation?

| 3 Which of the following will come in place of both the question
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J 4 Simplify: 18-[5—-{6+2(7-8  5)}].
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When simplified, the product(l — %) (1 TIE
gives.
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The value of 999—— x 999 |s:
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38 (999+é+ 999é+ 9998%+ 99

is simplified to:
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Find the value of * in the following :
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(1) 0.006 I
(2)-

3) 0.6
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4 6a+4Db .
If% il then the value of —

a 4 6a+4b
B 3 6a —5

6ax—5b
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(4) None of
these
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Find the smallest fraction among the following fraction -, —
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12347 -

b. 12346
c.12345
d. 12344




. 111105.5
. 111107.5

. 111108.5
. 111112.5




a. 370371 1
b. 370381 |||
c. 370381 |||
d. 370331
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a) 8/13
b) 6/13
(c) 4/13
(d) 2/13




a) 99/41
b) 99/37

c) 99/253
d) 99/53




